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Q No. 1 (Part-A)
Solution:-
(1) P= 50,000
I = 8% 
N= 8

FV = PV ( 1 + i)n

= 50,000 (1 + 0.08)8
= 50,000 ( 1.08)8
= 50,000 ( 1.8509)
= 92,545 Ans.

(2) P= 60,000
I = 6.5% 
N= 10

FV= PV ( 1 + i)n 

= 60,000 ( 1 + 0.065)10
= 60,000 (1.065) 10
= 60,000 ( 1.8771)
= 112,626 Ans.
	
(3) P= 80,000
I = 8% 
N= 10

FV= PV ( 1 + i)n 

= 80,000 ( 1 + 0.08)10
= 80,000 (1.08) 10
= 80,000 ( 2.1589)
=  172,712 Ans
Q No. 1 (Part-B)
Solution:-
= 80,000(1+8%)20
=80,000(1+0.08)20
=80,000(1.08)20
=80,000(4.66)
=372,800 ans
Or
= 80,000(1+8%)2
=80,000(1+0.08)2
=80,000(1.08)2
=80,000(1.1664)
=93312 ans

Q No. 2 (Part-A)
Answer:-
Profit Margin:-
Profit margin are gross profit, PBIT [Profit Margin on Sales], Net profit margin. Profitability ratios measure a company’s ability to use its capital or assets to generate profits. Improving profitability is a constant challenge for all companies and their management. Evaluating profitability ratios is a key component in determining the success of a company.
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Q No. 2 (Part-B)
Answer:-
Liquidity ratios are an important class of financial metrics used to determine a debtor's ability to pay off current debt obligations without raising external capital. Common liquidity ratios include the quick ratio, current ratio, and days sales outstanding.
Liquidity ratios determine a company's ability to cover short-term obligations and cash flows, while solvency ratios are concerned with a longer-term ability to pay ongoing debts.
Ratios that measure Liquidity of firm are as follow:-
1. Quick Ratio:
The quick ratio indicates a company's capacity to pay its current liabilities without needing to sell its inventory or get additional financing. The quick ratio is considered a more conservative measure than the current ratio, which includes all current assets as coverage for current liabilities. The higher the ratio result, the better a company's liquidity and financial health; the lower the ratio, the more likely the company will struggle with paying debts.
The Formula for Quick Ratio Is:-

Current asset-inventory/current liabilities
2. Current Ratio: 
This ratio reflects the number of times short-term assets cover short-term liabilities and is a fairly accurate indication of a company's ability to service its current obligations. A higher number is preferred because it indicates a strong ability to service short-term obligations
The Formula for current Ratio Is:-
          				
           Current Assets / Current Liabilities
3. Operating Cash flow ration:-
The operating cash flow ratio is a measure of how well current liabilities are covered by the cash flows generated from a company's operations. The ratio can help gauge a company's liquidity in the short term. Using cash flow as opposed to net income is considered a cleaner or more accurate measure since earnings are more easily manipulated.
The Formula for Operating Cash Flow Ratio Is:-

Operating cash flow​
Current Liabilities 

Q No. 2 (Part-C)
Answer:- 
Average Inventory = Beginning Inventory + Ending inventory
                                                               2

			= 50,000 + 45,000 
				2
Average inventory  =    47,500
Inventory Turnover = Cost of goods sold
			     Average inventory

			= 50,000
			   47,500
Inventory Turnover = 1.05
	___________________________________________________________
Ques No. 3 (Part-B)
Answer:-



Ques No. 3 (Part-C)
Answer:-
When the firm follows matching approach, i.e., hedging approach, long term financing will be used to finance fixed assets and permanent current assets and short term financing to finance temporary or variable current assets. As the level of fixed assets increases, the long term financing level also increases. Under matching plan, no short term financing will be used if the firm has a fixed current assets need only. As the level of current assets increases, the short-term financing also increases. Short term financing may be preferred over long term financing for two reasons, i.e., the cost advantage and flexibility. Short term financing should generally be less costly than long term financing. The short term and long term financing have a leveraging effect on shareholders’ return. In India, the short term loans cost more than long-term loans. Using short term financing to fiancé its current assets, a firm runs the risk of renewing borrowings again and again. There is always less risk of failure when the long term finance is used.
	______________________________________________________________

  Q No.4 (Part-A)
Answer:-                          
The firm can adopt a financial plan which matches the expected life of assets with the expected life of the source of funds raised to finance assets. Thus, a ten-year loan may be raised to finance a plant with an expected life of ten years; stock of goods to be sold in thirty days may be financed with a thirty day commercial paper or a bank loan. The justification for the exact matching is that, since the purpose of financing is to pay for assets, the source of financing and the asset should be relinquished simultaneously. Using long-term financing for short-term assets is expensive as funds will not be utilized for the full period. Similarly, financing long-term asses with short-term financing is costly as well as inconvenient as arrangement for the new short-term financing will have to be made on a continuing basis.
When the firm following matching approach (also known as hedging approach), long-term financing will be used to finance fixed assets and permanent current assets and short-term financing to finance temporary or variable current assets. However, it should be realized that exact matching is not possible because of the uncertainty about the expected lives of assets. However, it should be realized that exact matching is not possible because of the uncertainty about the expected lives of assets.
Figure 3 is used to illustrate the matching plan over time. The firm’s fixed assets and permanent current assets are financed with long-term funds and as the level of these assets increases, the long-term financing level also increases. The temporary or variable current assets are financed with short-term funds and their level increases. The level of short-term financing also increases. Under matching plan, no short-term financing will be used if the firm has a fixed current assets need only.

  Q No.4 (Part-B)
Answer:-    
The current asset of the business ranging from cash, marketable securities, inventory and receivable are considered as the gross working capital. The net working capital comprises of difference between the current assets and the current liabilities. The working capital management represents the planning of the business’s current assets and assessing the need of finance to support the current assets.

	_________________________________________________________
